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6­1 ­ 6­2 LAW OF SINES AMBIGUOUS CASE

ASA works for the Law of Sines
AAS works for the Law of Sines

SSS works for the Law of Cosines
SAS works for the Law of Cosines

SSA doesn't always work ­ sometimes there are two possible solutions

To know if it works, make an accurate sketch
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Ex 1 Solve triangle ABC

a = 22
b = 12
A = 42o

Ex 2 Solve triangle ABC

a = 15
b = 25
A = 85o
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Ex 3 Solve triangle ABC

a = 12
b = 31
A = 20o

Summary
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Ex 4 Solve triangle ABC

a = 18
b = 28
A = 25o

Homework
p.414 #8­18


	Page 1
	Page 2
	Page 3
	Page 4

